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∆Xt = ΠXt−1 +
k−1∑
i=1

Γi∆Xt−i + µ + αδ0t + εt. 738
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��(
 ,������D���� ��) ���.
0 −61.15 −60.75
� −61.36 −60.65
< −61.14 −60.12
E −61.10 −59.77
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#��������!����� LM1 χ2(36) 56.68 ����!�� 0.02
LM4 χ2(36) 45.36 ����!�� 0.14

?����!��� χ2(12) 264.68 ����!�� 0.00
< !�(


#��������!����� LM1 χ2(36) 88.30 ����!�� 0.00
LM4 χ2(36) 39.16 ����!�� 0.33

?����!��� χ2(12) 262.65 ����!�� 0.00
E !�(


#��������!����� LM1 χ2(36) 29.25 ����!�� 0.78
LM4 χ2(36) 34.06 ����!�� 0.54
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r = 1 1.0 1.0 1.0 1.0 1.0 0.92
r = 2 1.0 1.0 1.0 1.0 0.96
r = 3 1.0 1.0 1.0 0.96
r = 4 1.0 1.0 0.96
r = 5 1.0 0.99
r = 6 0.99

����� 4)� ��'!� 
)� 
 �)� ��
�!� 	�� �)� ����!  ��) E !�(
 ��� ��� ����� �����'!� 	�� 01��"0��
4)� ��
�!� 	�� �)� ����!
  ��) � �� < !�(
 ��� �)� 
��� �
 �� �)� ��'!��

��� �������� ��������
�� ������� ���
��
 ����� ��� 	�
���

,����� ����������� ��� ��
����� ������	� 
� #7�8 ������
�� �� ��� ����� ��� ��������� 	���%

��� ���� ������
�� ���� �� ������ ��� #� ���� ��	��
�� 
� �
������ ���� ��� ��������
�

���� �� ��	��
� 1� ���� �
����� 
���� ��� �
�
���
�� 
� ������ '��
 �� ��
��	�� ���	��

��� 	
������ ���	���

����� �������	
���	 �� �
� ���	����
���	 �
	�

�
 ��������� ��� 	
���������
� ����� 
� ����
�� ��� A
������ 7����8 ���	� ����� ��� ����

���
������ 
� ��� ���� �� ���� ��� 	
���������
� ���� �� �"��� �
 r� 
��	� �� ������ �������

��� ����������� ���
������� ���� ��� ���� �� �"��� �
 p� ��� ���� ��������	 ��

−2 ln Q = −T
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ln(1 − λ̂i) 748
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r = 0 r ≤ 1 r ≤ 2 r ≤ 3 r ≤ 4 r ≤ 5

�(����!�� 0.28 0.16 0.12 0.07 0.04 0.03
4�
� 
����
��� 190.92 108.24 65.98 33.16 16.35 6.55
*������! ��!�� /FI2 114.96 86.96 62.61 42.20 25.47 12.39
����!�� 0.00 0.00 0.03 0.33 0.47 0.46
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����� 3F ��������	�� ������� 
� ��� ��	�
� ���
� 	
���	��
� �
��� 
��� #7�8 ���������

����� �� :�	�������� �������� < !�(


��(
 ,������D���� ��) ���.
0 −55.25 −54.84
� −55.36 −54.64
< −55.14 −54.13
E −54.95 −53.63

����� �� +�

����3������ ��
�


< !�(
 ��� < ����� �����'!�


#��������!����� LM1 χ2(36) 46.47 ����!�� 0.11
LM4 χ2(36) 35.35 ����!�� 0.50

?����!��� χ2(12) 165.078 ����!�� 0.00
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����� 4F A
������D� ���	� ���� 
� 	
���������
� ���� �� ��� #7�8 �
���

r = 0 r ≤ 1 r ≤ 2 r ≤ 3 r ≤ 4 r ≤ 5

�(����!�� 0.31 0.28 0.08 0.07 0.05 0.03
4�
� 
����
��� 233.42 141.15 59.67 38.27 21.51 8.09
*������! ��!�� /FI2 114.95 86.96 62.61 42.20 25.46 12.38
����!�� 0.00 0.00 0.11 0.14 0.16 0.30
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H : β = (H1ϕ1, ϕ2). 7��8
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����� 5F ,��
������ ���� 
� α ��� β

����� �� ������������

wreal ∆py y u pc/y p̃∗

�C 76.90 30.49 72.42 71.15 72.09 68.08
����!�� 0.00 0.00 0.00 0.00 0.00 0.00

����� �� ;��$ ���(������

wreal ∆py y u pc/y p̃∗

�C 9.02 27.17 6.32 44.34 11.52 0.87
����!�� 0.01 0.00 0.04 0.00 0.00 0.65
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����� �F ,��
������ 
� ��� �
��%��� ����������

����� �� < !�(


wreal ∆py y u pc/y p̃∗ trend �C ����!��

H1 1.00 −2.48 0.76 −0.99 0.003 2.82 0.09
H2 0.14 1.00 −0.0001 −0.0001 3.23 0.20
H3 1.00 0.30 0.01 0.0003 1.47 0.48
H1 + H2 6.02 0.11
H1 + H3 4.33 0.23

����� �� E !�(


wreal ∆py y u pc/y p̃∗ trend �C ����!��

H1 1.00 −1.93 0.76 −1.07 0.002 1.11 0.29
H2 0.39 1.00 −0.07 −0.0005 6.70 0.04
H3 1.00 0.60 −0.03 0.0001 3.68 0.16
H1 + H2 7.81 0.05
H1 + H3 5.29 0.15
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	�� ��� ��	
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ui + C∗(L)B−1ut + X̃0.
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 �� ���������� ��� ��������
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���� ut ��� ��	
�������� 
��� ���� ������	�� Σu = BΩB′ = Ip� ������	��
p+p(p−1)
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(p−r)(p−r−1)
2
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�
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�� ����������
� 4� ��
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�)�� ��� �����!���!���  ��) � *)�!�
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����� �	 K−1GΩG′K ′−1� 4)� ������ B �
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B = M−1/2KG�  )��� M−1/2 �
 �)� ������ 	��� �)� *)�!�
$� �������
������
��4)� �����
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���
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�
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  ��) ��������� �5��� �� Xt  � )��� �� ����
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(p−r)(p−r−1)
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��������
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⎛
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∗ ∗ ∗ ∗
∗ ∗ ∗ ∗
∗ ∗ 0 0

∗ ∗ ∗ 0

∗ ∗ ∗ ∗
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⎞
⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
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Shock 4 to real wage
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-0.014

-0.013

-0.012

-0.011

-0.010

-0.009
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Shock 2 to real wage

5 10 15 20 25 30 35 40
0.0000

0.0016

0.0032

0.0048

0.0064

0.0080

0.0096

0.0112

Shock 2 to price inflation

5 10 15 20 25 30 35 40
-0.012

-0.008

-0.004

0.000

0.004

0.008

0.012

Shock 2 to productivity

5 10 15 20 25 30 35 40
0.0000

0.0025

0.0050

0.0075

Shock 2 to unemployment

5 10 15 20 25 30 35 40
-0.0025

-0.0020

-0.0015

-0.0010

-0.0005

0.0000

0.0005

0.0010

0.0015

0.0020

Shock 2 to internal price wedge

5 10 15 20 25 30 35 40
-0.008

-0.007

-0.006

-0.005

-0.004

-0.003

-0.002

-0.001

0.000

0.001

Shock 2 to real exchange rate

5 10 15 20 25 30 35 40
-0.004

-0.003

-0.002

-0.001

0.000

0.001

0.002

.����� 4F #������ ����
���� ����� � ��
	� �
 ��
��	������

Shock 3 to real wage

5 10 15 20 25 30 35 40
0.0000

0.0025

0.0050

0.0075

0.0100

Shock 3 to price inflation

5 10 15 20 25 30 35 40
-0.015

-0.010

-0.005

0.000

0.005

0.010

0.015

Shock 3 to productivity

5 10 15 20 25 30 35 40
-0.008

-0.007

-0.006

-0.005

-0.004

-0.003

-0.002

-0.001

0.000

0.001

Shock 3 to unemployment

5 10 15 20 25 30 35 40
0.000

0.001

0.002

0.003

0.004

0.005

0.006

Shock 3 to internal price wedge

5 10 15 20 25 30 35 40
0.000

0.001

0.002

0.003

0.004

0.005

0.006

0.007

0.008

0.009

Shock 3 to real exchange rate

5 10 15 20 25 30 35 40
-0.001

0.000

0.001

0.002

0.003

0.004

0.005

0.006

0.007

.����� 5F #������ ����
���� ����� � ��
	� �
 �
����� 
����
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Shock 4 to real wage

5 10 15 20 25 30 35 40
-0.0080

-0.0072

-0.0064

-0.0056

-0.0048

-0.0040

-0.0032

-0.0024

Shock 4 to price inflation

5 10 15 20 25 30 35 40
-0.006

0.000

0.006

0.012

0.018

0.024

0.030

0.036

0.042

Shock 4 to productivity

5 10 15 20 25 30 35 40
-0.0010

-0.0005

0.0000

0.0005

0.0010

0.0015

0.0020

Shock 4 to unemployment

5 10 15 20 25 30 35 40
-0.00016

0.00000

0.00016

0.00032

0.00048

0.00064

0.00080

0.00096

0.00112

Shock 4 to internal price wedge

5 10 15 20 25 30 35 40
-0.0070

-0.0065

-0.0060

-0.0055

-0.0050

-0.0045

-0.0040

-0.0035

-0.0030

-0.0025

Shock 4 to real exchange rate

5 10 15 20 25 30 35 40
-0.0025

-0.0020

-0.0015

-0.0010

-0.0005

0.0000

0.0005
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